

Graham Site 70403, Hammond, Louisiana Drive time: 15 minute radius Prepared by Esri Latitude: 30.50425 Longitude: -90.41898

		2	023 Labor Force			
Age Group	Population	Employed	Unemployed	Unemployment Rate	Labor Force Participation Rate	Employment- Population Ratio
16+	61,864	35,769	1,826	4.9%	60.8%	57.8%
16-24	11,446	6,611	661	9.1%	63.5%	57.8%
25-54	29,103	22,206	816	3.5%	79.1%	76.3%
55-64	8,928	4,471	224	4.8%	52.6%	50.1%
65+	12,389	2,481	125	4.8%	21.0%	20.0%
Male Age 16+	29,664	18,490	1,128	5.7%	66.1%	62.3%
Female Age 16+	32,200	17,279	698	3.9%	55.8%	53.7%

Economic Dependency Ratio	
Total	116.4
Child (<16)	43.5
Working-Age (16-64)	45.2
Senior (65+)	27.7

Schol (651)				27.7
Industry	Employed	Percent	US Percent	Location Quotient
Total	35,769	100.0%	100.0%	-
Agriculture/Forestry/Fishing	130	0.4%	1.1%	0.36
Mining/Quarrying/Oil & Gas	249	0.7%	0.4%	1.75
Construction	2,790	7.8%	7.0%	1.11
Manufacturing	2,640	7.4%	10.0%	0.74
Wholesale Trade	768	2.1%	1.9%	1.11
Retail Trade	4,378	12.2%	10.4%	1.17
Transportation/Warehousing	3,019	8.4%	5.5%	1.53
Utilities	122	0.3%	0.8%	0.38
Information	401	1.1%	1.9%	0.58
Finance/Insurance	919	2.6%	5.0%	0.52
Real Estate/Rental/Leasing	235	0.7%	1.8%	0.39
Professional/Scientific/Tech	1,971	5.5%	8.6%	0.64
Management of Companies	3	0.0%	0.1%	0.00
Admin/Support/Waste Management	1,354	3.8%	4.4%	0.86
Educational Services	3,426	9.6%	9.2%	1.04
Health Care/Social Assistance	5,178	14.5%	13.6%	1.07
Arts/Entertainment/Recreation	402	1.1%	2.2%	0.50
Accommodation/Food Services	4,525	12.7%	6.7%	1.90
Other Services (Excluding Public)	1,790	5.0%	4.7%	1.06
Public Administration	1,467	4.1%	4.8%	0.87

Data Note: Location Quotients compare the industry/occupation share of a local area's employment relative to that same share nationally. A value lower/greater than 1 indicates that the local area is less/more specialized in that industry or occupation category than the US as a whole.

Explore the Esri Labor Force Learn Lesson for more information on how to use and interpret the estimates in this report.

Source: Esri forecasts for 2023 and 2028.



Graham Site 70403, Hammond, Louisiana Drive time: 15 minute radius Prepared by Esri Latitude: 30.50425 Longitude: -90.41898

Occupation	Employed	Percent	US Percent	Location Quotient
Total	35,769	100.0%	100.0%	•
White Collar	19,664	55.0%	62.3%	0.88
Management	2,619	7.3%	12.0%	0.61
Business/Financial	2,198	6.1%	5.9%	1.03
Computer/Mathematical	785	2.2%	4.0%	0.55
Architecture/Engineering	452	1.3%	2.4%	0.54
Life/Physical/Social Sciences	315	0.9%	1.3%	0.69
Community/Social Service	717	2.0%	1.9%	1.0
Legal	206	0.6%	1.2%	0.5
Education/Training/Library	2,292	6.4%	6.2%	1.0
Arts/Design/Entertainment	322	0.9%	2.2%	0.4
Healthcare Practitioner	2,596	7.3%	6.2%	1.1
Sales and Sales Related	3,291	9.2%	8.6%	1.0
Office/Administrative Support	3,871	10.8%	10.4%	1.0
Blue Collar	9,141	25.6%	21.5%	1.1
Farming/Fishing/Forestry	70	0.2%	0.5%	0.4
Construction/Extraction	1,972	5.5%	5.0%	1.1
Installation/Maintenance/Repair	1,278	3.6%	2.9%	1.2
Production	1,827	5.1%	5.4%	0.9
Transportation/Material Moving	3,994	11.2%	7.8%	1.4
Services	6,965	19.5%	16.2%	1.2
Healthcare Support	1,466	4.1%	3.1%	1.3
Protective Service	453	1.3%	2.1%	0.6
Food Preparation/Serving	3,077	8.6%	5.2%	1.6
Building Maintenance	1,304	3.6%	3.3%	1.0
Personal Care/Service	665	1.9%	2.5%	0.7

Data Note: Location Quotients compare the industry/occupation share of a local area's employment relative to that same share nationally. A value lower/greater than 1 indicates that the local area is less/more specialized in that industry or occupation category than the US as a whole.

Explore the Esri Labor Force Learn Lesson for more information on how to use and interpret the estimates in this report.

Source: Esri forecasts for 2023 and 2028.

©2024 Esri Page 2 of 6



Graham Site 70403, Hammond, Louisiana Drive time: 30 minute radius Prepared by Esri Latitude: 30.50425 Longitude: -90.41898

		2	023 Labor Force			
Age Group	Population	Employed	Unemployed	Unemployment Rate	Labor Force Participation Rate	Employment- Population Ratio
16+	210,959	123,516	5,596	4.3%	61.2%	58.5%
16-24	30,468	16,616	1,444	8.0%	59.3%	54.5%
25-54	101,726	76,864	2,799	3.5%	78.3%	75.6%
55-64	34,114	20,396	1,048	4.9%	62.9%	59.8%
65+	44,652	9,641	304	3.1%	22.3%	21.6%
Male Age 16+	102,683	66,866	2,834	4.1%	67.9%	65.1%
Female Age 16+	108,275	56,650	2,761	4.6%	54.9%	52.3%

Economic Dependency Ratio	
Total	113.5
Child (<16)	44.5
Working-Age (16-64)	41.0
Senior (65+)	28.0

ndustry	Employed	Percent	US Percent	Location Quotient
otal	123,516	100.0%	100.0%	-
Agriculture/Forestry/Fishing	377	0.3%	1.1%	0.27
Mining/Quarrying/Oil & Gas	1,365	1.1%	0.4%	2.75
Construction	10,661	8.6%	7.0%	1.23
Manufacturing	7,784	6.3%	10.0%	0.63
Wholesale Trade	2,774	2.2%	1.9%	1.16
Retail Trade	13,726	11.1%	10.4%	1.07
Transportation/Warehousing	6,513	5.3%	5.5%	0.96
Utilities	852	0.7%	0.8%	0.88
Information	1,720	1.4%	1.9%	0.74
Finance/Insurance	6,238	5.1%	5.0%	1.02
Real Estate/Rental/Leasing	1,084	0.9%	1.8%	0.50
Professional/Scientific/Tech	9,338	7.6%	8.6%	0.88
Management of Companies	3	0.0%	0.1%	0.00
Admin/Support/Waste Management	4,905	4.0%	4.4%	0.91
Educational Services	11,562	9.4%	9.2%	1.02
Health Care/Social Assistance	17,637	14.3%	13.6%	1.05
Arts/Entertainment/Recreation	1,831	1.5%	2.2%	0.68
Accommodation/Food Services	11,377	9.2%	6.7%	1.37
Other Services (Excluding Public)	7,533	6.1%	4.7%	1.30
Public Administration	6,235	5.0%	4.8%	1.06

Data Note: Location Quotients compare the industry/occupation share of a local area's employment relative to that same share nationally. A value lower/greater than 1 indicates that the local area is less/more specialized in that industry or occupation category than the US as a whole.

Explore the Esri Labor Force Learn Lesson for more information on how to use and interpret the estimates in this report.

Source: Esri forecasts for 2023 and 2028.



Graham Site 70403, Hammond, Louisiana Drive time: 30 minute radius Prepared by Esri Latitude: 30.50425 Longitude: -90.41898

Occupation	Employed	Percent	US Percent	Location Quotien
Total	123,516	100.0%	100.0%	
White Collar	77,676	62.9%	62.3%	1.0
Management	16,001	13.0%	12.0%	1.08
Business/Financial	7,548	6.1%	5.9%	1.0
Computer/Mathematical	2,585	2.1%	4.0%	0.5
Architecture/Engineering	2,477	2.0%	2.4%	0.8
Life/Physical/Social Sciences	1,024	0.8%	1.3%	0.6
Community/Social Service	2,502	2.0%	1.9%	1.0
Legal	1,588	1.3%	1.2%	1.0
Education/Training/Library	8,485	6.9%	6.2%	1.1
Arts/Design/Entertainment	2,009	1.6%	2.2%	0.7
Healthcare Practitioner	9,906	8.0%	6.2%	1.2
Sales and Sales Related	10,898	8.8%	8.6%	1.0
Office/Administrative Support	12,653	10.2%	10.4%	0.9
Blue Collar	25,291	20.5%	21.5%	0.9
Farming/Fishing/Forestry	158	0.1%	0.5%	0.2
Construction/Extraction	6,412	5.2%	5.0%	1.0
Installation/Maintenance/Repair	4,332	3.5%	2.9%	1.2
Production	4,936	4.0%	5.4%	0.7
Transportation/Material Moving	9,453	7.7%	7.8%	0.9
Services	20,550	16.6%	16.2%	1.0
Healthcare Support	3,775	3.1%	3.1%	1.0
Protective Service	2,778	2.2%	2.1%	1.0
Food Preparation/Serving	7,995	6.5%	5.2%	1.2
Building Maintenance	3,363	2.7%	3.3%	0.0
Personal Care/Service	2,639	2.1%	2.5%	3.0

Data Note: Location Quotients compare the industry/occupation share of a local area's employment relative to that same share nationally. A value lower/greater than 1 indicates that the local area is less/more specialized in that industry or occupation category than the US as a whole.

Explore the Esri Labor Force Learn Lesson for more information on how to use and interpret the estimates in this report.

Source: Esri forecasts for 2023 and 2028.

June 26, 2024

©2024 Esri Page 4 of 6



Graham Site 70403, Hammond, Louisiana Drive time: 60 minute radius Prepared by Esri Latitude: 30.50425 Longitude: -90.41898

June 26, 2024

		2	023 Labor Force			
				Unemployment		Employment-
Age Group	Population	Employed	Unemployed	Rate	Participation Rate	Population Ratio
16+	1,296,941	776,522	43,961	5.4%	63.3%	59.9%
16-24	191,246	103,594	13,412	11.5%	61.2%	54.2%
25-54	629,300	489,211	22,185	4.3%	81.3%	77.7%
55-64	202,546	124,176	5,661	4.4%	64.1%	61.3%
65+	273,849	59,541	2,703	4.3%	22.7%	21.7%
Male Age 16+	629,093	408,314	23,940	5.5%	68.7%	64.9%
Female Age 16+	667,848	368,208	20,021	5.2%	58.1%	55.1%

Economic Dependency Ratio	
Total	106.7
Child (<16)	40.9
Working-Age (16-64)	38.3
Senior (65+)	27.5

Industry	Employed	Percent	US Percent	Location Quotient
Total	776,522	100.0%	100.0%	-
Agriculture/Forestry/Fishing	2,652	0.3%	1.1%	0.27
Mining/Quarrying/Oil & Gas	5,957	0.8%	0.4%	2.00
Construction	67,284	8.7%	7.0%	1.24
Manufacturing	57,410	7.4%	10.0%	0.74
Wholesale Trade	16,652	2.1%	1.9%	1.11
Retail Trade	83,435	10.7%	10.4%	1.03
Transportation/Warehousing	39,301	5.1%	5.5%	0.93
Utilities	6,411	0.8%	0.8%	1.00
Information	10,765	1.4%	1.9%	0.74
Finance/Insurance	35,569	4.6%	5.0%	0.92
Real Estate/Rental/Leasing	10,069	1.3%	1.8%	0.72
Professional/Scientific/Tech	55,630	7.2%	8.6%	0.84
Management of Companies	258	0.0%	0.1%	0.00
Admin/Support/Waste Management	33,513	4.3%	4.4%	0.98
Educational Services	73,062	9.4%	9.2%	1.02
Health Care/Social Assistance	112,240	14.5%	13.6%	1.07
Arts/Entertainment/Recreation	12,799	1.6%	2.2%	0.73
Accommodation/Food Services	66,837	8.6%	6.7%	1.28
Other Services (Excluding Public)	41,056	5.3%	4.7%	1.13
Public Administration	45,623	5.9%	4.8%	1.26

Data Note: Location Quotients compare the industry/occupation share of a local area's employment relative to that same share nationally. A value lower/greater than 1 indicates that the local area is less/more specialized in that industry or occupation category than the US as a whole.

Explore the Esri Labor Force Learn Lesson for more information on how to use and interpret the estimates in this report.

Source: Esri forecasts for 2023 and 2028.



Graham Site 70403, Hammond, Louisiana Drive time: 60 minute radius Prepared by Esri Latitude: 30.50425 Longitude: -90.41898

Occupation	Employed	Percent	US Percent	Location Quotien
Total	776,522	100.0%	100.0%	
White Collar	484,243	62.4%	62.3%	1.0
Management	91,786	11.8%	12.0%	0.9
Business/Financial	41,994	5.4%	5.9%	0.9
Computer/Mathematical	18,591	2.4%	4.0%	0.6
Architecture/Engineering	17,962	2.3%	2.4%	0.9
Life/Physical/Social Sciences	9,249	1.2%	1.3%	0.9
Community/Social Service	14,082	1.8%	1.9%	0.9
Legal	10,974	1.4%	1.2%	1.1
Education/Training/Library	53,876	6.9%	6.2%	1.1
Arts/Design/Entertainment	14,387	1.9%	2.2%	3.0
Healthcare Practitioner	61,253	7.9%	6.2%	1.2
Sales and Sales Related	70,446	9.1%	8.6%	1.0
Office/Administrative Support	79,643	10.3%	10.4%	0.9
Blue Collar	164,431	21.2%	21.5%	0.9
Farming/Fishing/Forestry	1,297	0.2%	0.5%	0.4
Construction/Extraction	46,290	6.0%	5.0%	1.2
Installation/Maintenance/Repair	25,243	3.3%	2.9%	1.
Production	31,807	4.1%	5.4%	0.7
Transportation/Material Moving	59,794	7.7%	7.8%	0.9
Services	127,846	16.5%	16.2%	1.0
Healthcare Support	20,867	2.7%	3.1%	0.0
Protective Service	16,285	2.1%	2.1%	1.0
Food Preparation/Serving	48,060	6.2%	5.2%	1.1
Building Maintenance	25,415	3.3%	3.3%	1.0
Personal Care/Service	17,219	2.2%	2.5%	3.0

Data Note: Location Quotients compare the industry/occupation share of a local area's employment relative to that same share nationally. A value lower/greater than 1 indicates that the local area is less/more specialized in that industry or occupation category than the US as a whole.

Explore the Esri Labor Force Learn Lesson for more information on how to use and interpret the estimates in this report.

Source: Esri forecasts for 2023 and 2028.

©2024 Esri Page 6 of 6